MATH 203/2 FALL 2006
ASSIGNMENT 4 SOLUTIONS

Section 2.9

4. (a) (a) = IL since from left to right. the slopes of the tangents to graph (a) start out negative.
become O . then positive, then 0 . then negative again. The actual function values in graph II follow
the same pattern.

(b) (b) "= 1V, since from left to right, the slopes of the tangents to graph (b) start out at a fixed
positive quantity. then suddenly become negative, then positive again. The discontinuities in graph IV
indicate sudden changes in the slopes of the tangents.

(c) (¢) =1, since the slopes of the tangents to graph (c) are negative for x<0 and positive for x>0
. as are the function values of graph I.

(d) (d) =1L since from left to right. the slopes of the tangents to graph (d) are positive, then 0
then negative, then 0 , then positive, then 0 . then negative again. and the function values in graph IIT
follow the same pattern.
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Section 3.1

6. F(x)=—4x = F ()=—4(10x )=40x

10. f(O)=75 (-3t +t= f (6)=3 (6)-3(4 )+1=3 ~12¢ +1
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40. y=( 1+2nr)2=1—4x+4:r2 =y '—4+8x. At (1.9).» '~12 and an equation of the tangent line 1s
y-9=12(x-1) or y=12x-3.
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Section 3.2

4. By the Product Rule, g(:r)=1ﬁ ¢=x'"¢'= g ""'(x)=x1""2(€'x)+ex (
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